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1. Find whether or not the phenotype distribution in the following sample of 96 flies has

goodness of fit with the Mendelian 9:3:3:1 distribution. (a= 0.05) 10
Phenotypes: | Grey body Red eye | Black body Red | Grey body scarlet eye Black body scarlet eye
eye
Frequencies: 60 16 15 5
Critical %2 .0s0) = 3-845 Loosy = 5995 Loosy = 7-823 X054y = 9-49.
2. Answer the following: 5x2=10

What do you mean by Karyotyping?

a
b. What are the aspects one should look into while analyzing karyotype.

c. What is meant by Submetacentric and Telocentric chromosomes?

&

allosomes.

How many acrocentric chromosomes are found in humans. What is meant by

e. A karyotype on analysis revealed the karyotypic formula of 44A+XXY. Comment

and identify the condition.

3. Give phylogenic characters of the following parts of horse:

a. Hindlimb of Mesohippus

b. Forelimb of Eohippus

c. Skull and brain of Merychippus

3x2=6



4. Identify the following Darwin’s Finches and give their feeding habit: 2x2=4
a. b.
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